
11 3l
4. 'Ihe value of lo ,l is :

t-zl\_t
(a) 0. (b) -2.

5. When 2, = 16 the valn€Ofr is :
(a) 4. (b) -4.

6. the function y = f(r) is inflexional if:

,r, {4=0.

7. Matrix A is said to tre skew-synmetric matrix when :

(a) A=Ar- ft) A=A,.
. 8. the slope ofthe equation O.sJ =,r is :

Nam€..,.,................-.........--.

' , ' 50x(99)\c) _ 2_.

(c) U100.

k)2

(c) 1.

)2,,
rc) Hro.alr -

(c) A=-A'.
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Part A

Ansuer all quastians.
Each question cdties ya ueightage,

1. Theeumof 1 +2 + 3 +... +S0rs :

2. When logro r = 2 the value ofc is :

(a) 100. , (b) 10001.

3. .Wheathedemandforagoodisgiveuby9_50=_g.25Ot5"l::aximueprico,pthatwouldbe
related to nil quantity. g is :

(a) 25. (b) 50. (c) 200.

, . 50 x (51)(4, - 2-.

)2-
tat ffi=0.

. . 50\(49)
2

(a) 1. ft) -1.
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(c) Equivalent.

(c) t'
11. When an a$ounty grows to r in n years at r per ceDt i.nterest the relationship among/ and other

2

9. WhenAu B = {0} the sets AandB are :

(a) Null. G) Singleton.

d10. ---(-t, is :

(a) 1. (b) - 1.

var:iables is given by :

ra) , =rtr-r'.J. 161 y =y(1+r)'.

12. civen zr = y the partial <lerivative, f is:

(c) y ='(1+r)-t,.

.. r(c) --t.
(12x%=3*"i*6tut",

, (9x I = I weiChtage)

$t h'
Part B (Short Answer Type questions)

Answer sll questions.
. Euh quzstian carrips I weightage.

rit. -!lno llrev:uue ot :+z
d

14. Find the root{s) off,be equation n/, .g--9,

15. Giver A = {1, 2} and B = {2, 3} find (A u B) ard (A 
^ 

B).

16. Are the following linee parallel ? J = 2r -1 and 2, = - 4, + 5. Why ?

17. Explain with example : (i) Univereal set ; (ii) Finite set.

h ot to 21
18. Find IABJ sivenA=l] -lanan=t 

'-t
rbqr L2 0l'

d.,
19. Find the derivative ; of.ry = *, where * is a constant.

)2
,0. p;r6 Ll_<-r +e.r _e ).dr" \

21. Define present value of a future sum.
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23.

Part C (Short Essay/paragraph T:dre euestiotre)
. Answer &n! five questions out ofseuen,' Each quzitinn caries 2 ureight(ige,

Define coatinuity ofa ftmction. Is the f ' r2+4
uncEon Jl, = ------=- continuous at r = _2 ? Why ?

Given the tunction y = 

^r) 
state the coqditioa for the fiuction to attain a ninimnm value.

Find the stationary valrr"" og y =(f *r -" 2).

-.dvltt-qven 
A- =t - -t - + z, find: that oakeg the function inllexional

Fi[d the present value of a suo ofRs. 10 in 10 years wh€n tlro rate of discolrnj is 10 percent.
Distinguish between simple and compould interest.
Defitre cotrvexity of function r = f b,).

part D (Es6ay euestiona)
Ansuer ah,y t!{.o questians out of three.

E&ch qt&stion carri4s 4 weiEhtage.

29. fire relationship among three goods is expressed tlrrough their pricos. Find t]re equilibrium prices
using Craber's rule :

Pr+2P2+3P3=14
2Pr + P2 + po= Zl
3P, + 3P, + 2PB = ls

90. GiveD r = y log r, evaluate the second oriler partial derivatives
31. State s.nd explain aiy four properties ofdet€rmiDant ofa matrix.-> 

(2x4=Sweightage)

26.

27.

24.

(5x2=l0weightage)


